3
&
¢ ®
- 4
1< ]

e R SAIEE

[ RRERESE




K2 3 5 1 2 55 % 1A g A

ANZ RE BHE 5

b Bt R 3t




«RSBEENREL MK
Daxueyingyu Sijitengkco Shitiji
WE RfE KRE %

%

b F OB KR H KR
(JEEXZF 6 B)

FEBIEIRETRERT
FFEEE BT R
*

787% 1002 ¥ 32 FA 11.5 EpE
190088 A1 R 1990 4E 8 B 1 (EPR
Ep¥ 1—7,720

ISBN 7-200-00896-6/G » 387
E s 4475 T

e




it

. ’ ._!)
jf' 1.»—" )! ¥ / i(:n-—n
ivfﬁféiﬁég
. / )
L V. Ve et
B =

198548, BIRABHMIMR T REBIBHERM.
RN ) FUE TR AR IIE S35 9 E MRS b BIRw
MBS, HPEMNBIIAIE, —EMRGERER,
EAZNRE TR, EMBMARILERN, HARNER
HITLEE—ZR. HEXIEENEN, REFIHYZ
ABMETHRENEES, TREDHES, UEHYEIHS
SH—FmRiEysR, UESEREINES (QEER
BERREMREER ), WRBBRES, B HE
% gE,

HAE T 1T RIEFEN B BB RA R Z L R T
MILE, |
| o

~ L\ R




H

KSR EN R KRR
REMBEEER
. 19874 E (£ FH) REXFBMEHAREE

3

O 0 =3 B Gl B W D s

. 1987 IR K ¥ W BN A F HBULET 1
19884 Jb IHT K ¥ R IBN A E IR RS |
. 19884E L T R HIEBIN KL RS |
. 19884F MR FRIBEFEIAENLES
. KREFRBEEZARAE |
. RERBMESARUREL
. RERBENEEZARURAE X
. REFRBOHEZEAEUAEY
E. ARESIEER

1. RiEEHERE

2. ACREZREH

3. SEHEHEZR

[a—y
o

. 198TEEI AT R EIBURZRABUES 1



F

— AFRBOFFHKHN

Syllabus for College English Test
Band Four (CET-4)

-y

ERBZEZENEBELRARMCERAN HRRA K
FEBHZAN Y WIBAFIEH, RFHATHER, TR %
R NEF S FEERITE— R AR RFEEIFM R
ZER(CET-ORBRREX—FEMRITHH. ZiRMBRET
LHEBFHREBTEREFRIENRNELERBRFNBEFZXNTH
E W& H B AR ﬁﬁ%ﬁﬁﬂ:ﬁﬁ%?&*ﬁﬁﬁ%ﬁ (Crite-
rion-referenced Test) .

HFEFRNEH, RERBHFNENREFREERAR
BAERED, —ENTREh (EINERNRKRERE
—ERENEEDN ) LRI NEMIRNEES, EFEEMUZ
BATR, REREVWYHBENEER, FHAF S RERIEK
EATTRIFHEM. itt, AEREZBEEREEEREEN
Reh, BNEEFENELREWRMIEEREOEERE,

AEBRRE—MiREAER. BTEINARE0RANF
, GR#FER. BREHEEEREERKNFTAEH —
BEOLIK SENKEUANETAT. ARERENEE,
BREXEEDBYEEMNERASD » HARERAZRMERY

1




SHEFHEACR, EXEEBLEERTFHEREESHIE
SWEES, MMEHRENRE,

RKERTHBEHE R GHET, HAEREN, NARE
ikt ARt XK, RITHNSERT—K, *
ERAE

AZREERBYAE, FTHEM, FEEERE, EH
HEEiEEER. SRS, EXE5E, 2P EREFE—
5, '

&Ry, W EMR(Part 1, Listening comprehen-
sion ), 208, XiktEH2004h. X—HLEEHFT . A
Y5 (Section A ) FloMW, SES—AXNIE, LWH, XiF
B & —AEE, BT (Section B) F10/8, DARHEET
B AMBZE. FREHE 2B, Y — A

Wt 884 B A MR B Y158 rEIRR, ZEXRF4EMIR
ERTA MG ENAERIPEN A RESE, XEWE
BOGESBA1207 8GR, S—i. EHTER,

1. $HEMH A B WEFEFH—BE, D FERNAR

A KE s
2. GEWTHMEERARE. BT A LXERNEE., F
. RS '

3. BrAAE A &% XML RTDEIENEH.

C WHEBRDAR ENRNREEFROLE BN,
S FEEME(Part 11 ; Reading Comprehen-
sion )} , 3207, %A BI85 b« ERZ AL MRS TRE,
SRR R E S 1000 B BREXEFET IR AEE

*HI1SSRFGREBETAR —=wE
2




WRAELEAZMNEERNERTPEH - REER, &
MR R

1. BHTZ, 88 \wEid. 44 .0k A RAR. B
BiRSE, SRABEMEFRIRMNEEGFA: TR

2. BBSE,TUERAGR RAX, MAX. it
N5,

3. XEMEBESHEESS, TEBWT X E @i
W, M FERHECRNENEE, BIUEEBREY.

PR B EEWRATREED:

1. EEFIEMEREEN S

2. TERAFENAENE LA, |

3. BT RS, e R 5T 4 B 7 —E A
Wit

4. RERBANGTFHEY, BERLT XHRBHEXR.
C PUIRERE SR B RO R IA S 4 B Rk B s B ARk
73, BREER#H, BEREF—-ENEE,

B=849. WBHEMIELL#H (Part 1:Vocabulary
and Structure ), F£308, ZFiAKtE20080. MER40%
ARG EE %, 60% NiREAR. BEREEMNEETA
R i 3 i — MRS K. -

IS ETE A e o B RMRFEE BEL,
HERBEEHRIES, ZRATESREXXNFILERE
RBegERR—-BRENRZHLBAE. |

HEpQiBsy, 52RiE2Z3 (Part F, Cloze ), 3t208, &
REEIS 8. E—EREHAR, EEEFHEX (D200
H) PEF0ANEE, BIMBEN—E, FEAFEN LR
b, BERZELELTERAZKEM LEE P REER,

3




SRR R E Sk, ESHIRATEES KA R
Vi,

SRS BRI 254G HESNEE .

¥4 Be (Part v.Writing ), %15, %A
RI30938h. BRBAEBSH —E100~1201@KGL. RELT
RAHEH RMTHER, RERBEEY, RAHEET
FREE, RAVAEBAERSREN. EREBEHRE
BHE, ®XER, TEAEEER, SENASQEANE
ER— %R,

BRI S0 HINR MR 34 AR IEBER A BN
¥ 86 H o |
BEEE S hik :

RV A LR 00, EoR% 4 M SR AL R IR
A REEE, FELSTHR(Answer Sheet) L IBHia7
B BB EEF B U — KB %A% ( Test Paper) LR
BEfEERIE S, SEHEER-NEE,2EEE.STikE
By RERAEY, SHERTS. TUHEIRERREN
TSI RS A BRI DS R R 2 RERES
#y DI60s 9 RAEIRM. FIABIRKIRER RA RS HIBN
BERAKIES, KBSSHMEE “RFNE” 28,

REAMBSRE B, HHRERRENEDT,




l%"'%‘g g3 \l EBHEBER Eﬁﬁl itsr | BRNE
1| 1—20 | WThERE 200 | 204 | 205 %h
I |21—a0| i@ 20f8 | 404 | 35404k

AHIE_ 11—70| EEAERBEER 30E._ 155 | 205r8h
N |70—9% | BHHEE -;ogﬁ 1045 | 15434

T 91 | BB W8 | 155 | 304+

a it | _91@ 1004y | 12043 $b

W ERRNRBLRE
Educational measurement HEHEE
Examination %if
Test Wik, Fik. F#RER
Test Paper iR
Answer Sheet EE4t
Part #34>
Section i
Item B.EH.&L(#: 3@ #ltem type )
Item analysis RIS
[tem bank Z&i&E
Stem ®F
Choice { 8{Option) E#&EIF




Multiple-choice £ IRk
Multiple-choice item % JRGHEERR
Distractor {1

Blank H

Key &%, fiER




Z. el RER

19874 (2H ) A¥EBEEEAE XA
College English Test

—Band Four—

(Sample)

T B ¥ M

—. BIREZTFSBELEEE L. ZRLEEE, i
RAMEMEHER £, %A% 5 B a4
A EFR T, AENETERHREEHR G,

=L S . TR RBERES 2B
E@,§$~%¥EﬁgﬁﬁioEEﬁ%L%%%@&Q

=, BHEREREE-NER, SEAEE. TR BTN
ERRABREEFZEBEU RS, ﬁ%%ﬁ%%%%c,
EfEER,

(A) (B) (€ (D) i
AR RS B EERE Y, -

M, MRERHEE, BAEREEEEERETNE
E, REHEZLEOAECEHRSE, ~

A, BEEXEEAN, SETETAESISH,




PART I LISTENING COMPREHENSION
(20 minutes) (8%)

PART I READING COMPREHENSION
(35 minutes)

Directions; There are four reading passages in this
part _Each passage is followed by some questions
or unfinished statements. For each of them there
are four choices marked A), B), C)and D). You
should decide on the best choice and mark the corre-
sponding letter on the Answer Sheet with a single

‘line through the centre,

Questions 21 to 25 are based on the following pas-

sage.

The advantages and disadvantages of a large
population have long been a subject of ‘-discussio'n
among economists, [t has been argugd that the supply
of good land is limited, To feed a large population,
inferior land must be cultivated and the gooﬁ land
worked intensively, Thus,each person produces less
and this means a lower average income than could
be obtained with a smaller population  Other econo-
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mists have argued that a large population gives more
scope for specialization and the development of facil-
ities such as rports, roads and railways, which are
not likely to be bulit unless there is a big demand
to justify them,

One of the difficulties in carrying out a world-
wide birth control program lies in the fact that of-
ficial attitudes to population growth vary from coun-
try to country depending on the level of industrial
development and the availability of food and raw
materials, In the developing country where a vastly
expanded population is pressing hard upon the lim-
its of food,space and natural resources,it will be the
first concern of government to place a limit on the
brithrate, whatever the consequences may be, In a
highly industrializzsd society the problem may be
more complex A decreasing birthrate may lead to
unemployment because it results in declining mar-
ket for manufactured goods, When the pressure of
population on housing declines, prices also decline
and the building industry is weakened, Faced with
considerations such as these, the government of a
developed country may well prefer to see a slowiy
increasing population, rather than one which is sta-
ble or in decline,

21. A small population may mean




22,

23

24,

- 10

A) higher productivity, but a lower average in-
come

B ) lower productivity, buta higher average in-
come '

C ) lower productivity and a lower average in-
come

D ) higher productivity and a higher average in-
come _

According to the passage,a large population will

provide a chance for developing

A) agriculture - |

B ) transport system
C ) industry

D ) national economy
In a developed country,people will perhaps go
out of work if the birthrate
A‘) gose up

B ) gose down

C ) remains stable

D ) is out of control

According to the passage,slowly rising birthrate
perhaps is good for

A ) a developing nation

B ) a developed nation

C ) every nation with a big population .
D ) every nation with a small population



25, It is no easy job to carry out a general plan

for birth control throughout the world because

A') there are too many underdeveloped coun-
tries in the world

B ) underdeveloped countries have low level of
industrial development

C ) different governments have different views
of the question | ‘

D ) even developed pountrieé may have gom-
plex problems

Questions 26 to 30 are based on the following pas-
sage;

“It hurts me more than you,” and “This is for
your own good,” These are the statements my mother
used to make years ago when I had to learn Latin,
clean my rcom, stay home and do homework,

That was before we entered the permissive peri-
od in education in which we decided it was all right
not to push out children to achieve their best in school.
The schools and the educators made it easy on us.
They taught that it was all right to be parents who
take a let-alone policy. We stopped making our chil-
dren do homework.We gave them calculators, turn-
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ed on the television, left the teaching to the teach-
ers and went on vacation,

Now teachers, faced with children who have been
developing at their own pace for the past 15 years,
are realizing we’ve made a terrible rhistake, One
such teacher is Sharon Klompus who says of her stu-
dents—“so passive”—and wonders what happened .
Nothing was demanded of them, she believes_Televi-
sion, says Klompus, contributes to children’s pas-
sivity “We’re not training kids to work any more, ”
says Klompus, “We’'re talking about a generation of
kids who’ve never been hurt or hungry.They have
learned somebody will always do it for them, In-
stead of saying‘go look it up’, you tell them the ans-
wer. It takes greater energy to say no to a Kid.”

Yes, it does. It takes energy and it takes work.
It’s time for parents to end their vacation and come
back to work. It’s time to take the car away, to
turn the TV off, to tell them it hurts you more
than them but it’s for their own good., It’s time
to start telling -them no again.

26. Children are becoming more inactive in study

because .

A) they watch TV too often

B) they have done too much homework

C) they have to fulfil too many duties
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